MIAMIDADE MIAMI-DADE COUNTY, FLORIDA

- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Hialeah Aluminum Supply, Inc.
2360 W. 76 Street
Hialeah, FL 33016

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “0.070” Aluminum Storm Panels Shutter (3105-H14 Alloy)

APPROVAL DOCUMENT: Drawing No. 3127, titled “0.070” Aluminum Storm Panels”, sheets 1 through 4,
prepared, signed and sealed by Robert Monsour, P.E., dated 7/5/96, bearing the Miami-Dade County Product
Control Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 99-0521.01 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Raul Rodriguez.

NOA No 02-0221.02

Expiration Date: August 8, 2007
Approval Date: April 11, 2002
Page 1




L 5

-

VARIOUS ANGLES

)

J1STS' 1268 | 2000 1265' | 2063' 1265 000" 1268 187
\"‘i |
‘ ;
L 25 \
| -
s
TYPICAL PANEL SECTION (070 WALL)  WINGNUT
J2 -
™ 12% T
[ Nl

R

1/4*-20 X 3/4°

16-86 STAINLESS STECL
KNURLED STUDS

6 /4" oL,

STUDDED ANGLE

OV -

"h" HEADER

2R.00"

R .

§
A— -%F
( _7#.“&'

LESS MATY PLARE OUT TO

2-

EASILY RUCEIVE STORM PANELS,

"' HEEADER

,
-~ 0
- ——————— = p—————— - PRI T TIPS U] ) ¥ T R YRR T n TR WY & R PTR WEW T T T IR T

OT70 ALUMINUM STORM PANELS
ALLOY 8lOSH 14

COMPLIES HWITH: .
SOUTH FLORIDA BUILDINS copes chaeter 28, PRODUCT RENEW

SECTIONS 4028 ADOPTION OF ASCE 7-88,

23145 FATIGUE LOAD TESTING, ACCEPTANCE No. %—052(-0!

2313 IMPACT TESTS AND |9494 B.C.

DESIGN CRITERIA By

PROD

HWIND LOAD PER CHAPTER 23 OF SFBLC. BUILDING CODE COMPLIANCE OF

PRESSURE REQUIREMENT CALCULATIONS MUST BE

PERFORMED PER ASCE 1-88 *MINIMUM DESIGN

LOADS FOR BUILDING AND OTHER STRUCTURES' PRODUCT RENEWED

DEFLECTION - L/30 W2' MAX ( POSITIVE LOAD ) as complying with the Florida
Buiding Code

Acceptance Noo2. -0 2.0
E te,

sosms roms ViV
By
THIS ALUMINM STORM PAREL 1S DESIGNED FOR  Mfami Dade Product Confrad

COASTAL ¢ NON COASTAL ZONE BUILDINGS. Division
ALL ALUMINM EXTRUSIONS TO BE ALLOY 6063-T6 OR BQUAL.

8TORM PANELS SHALL BE ALLOY 010 8l0%-HI4 ALUMINM OR EQUAL
SMOOTH OR EMBOSSED.

THE STORM PANEL SHTTER MAY BE INSTALLED VERTICALLY OR
HORIZONTALLY, IN ACCORDANCE TO THE DETAILED SPECIFICATIONS
HEREIN

PDGE DISTANCE SPECIFICATION TABLE APPLIES TO HEADER
AND SILL APPLICATIONS ONLY.

ANCHORAGE OF THE SHITTER S8YSTEM TO CONCRETE OR MASONARY
SHALL CONSIST OF /4" DIA. X | /4" NAIL-IN ANCHORS

1/4°-20 MACHINE SCREN AND EXPANSION ANCHORS,

174% X 2 1/4" MASONRY SCREN ANCHORS,

1/4'-20 X |I* TRUSS HEAD MACHINE BOLTS,

1/4'-20 X 4/16"' BRASS INSERT WITH /4-20 X ' MACHINE BOLTS,

USED IN COMBINATION WITH 1/4°-20 MACHINE SCRENS WITH I/4-20 NUTS
AND WASHERS, 1/4°-20 NASHERED WING NUTS, KETHOLE WASHERS AND
KNJRLED STUDS. SPACING AS INDICATED ON THIS DRAMNING. ANCHORS
SHALL PROVIDE A MINIMM OF | |/4* EMBEDMENT INTO THE MASONARY.
BRICK AND/OR CONCRETE. ANCHOR | ENGTH MAY YARY TO ACHIEVE
THE PROPER EMBEDMENT.

ARCHORASGE TO ROOD CONSTRUCTION SHALL BE I/4-20 X 4/16" THREADED
BRASS HOOD INSERT WITH I/4-20 X I' TRUSS HEAD MACHINE BOLT
OR ANY OTHER DADE COUNTY APPROVED FASTERER,

ALTERNATIVE ANCHORS AND CONDITIONS ON SHEET NO. 2 ¢ 2,

EACH OPENING SHALL BEAR A PERMANENT LABEL SHONWING
*DADE COMNTY PRODUCT APPROVED' LOCATED [N EACH HEADER,

RARNING TO OMNER OR TENANT LOCATED [N HEADER STATING
*STORM PANELS HILL NOT OFFER HURRICANE PROTECTION UNLESS
ALL I/4-20 STITCHING REINFORCING 19 PROPERLY INSTALLED DURING
WRD VELOCITIES EXCERDING TS MPH.

HRARNINGS AND LABELS MUST ALSO BE PERMANENTLY PRINTED ON
EACH STORM PANEL.

PERMANENT FASTENER COMPONENTS, EMBEDDED ANCHOR BOLTS,
THREADED CONES OR METAL SHIELDS, NOT IN USE,

MUST BE PROTECTED ASAINST CORROSIOR, CONTAMINATION

AND DAMAGT AT ALL TIMES,

APPROVED AS COMP WITH THE
y CODE

19%

DESIGN PRESSURE RATING,

FOR DESISN PRESCURE RATI
THE CHART ON PASE 84 4,

, REPER TO DAT

BY

PRODACT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
acceeinice NoFe- 031).02.

CONTROL DIVISION

WP PR TN PR

REVISIONS

6/12/96
1/3/96

RAMMS ENGINEERING, INC.

2108 R TER SR, WA MY

T22Z-3i4]

8 o0osn24

5

]

©
A
b
m [¥A)
> EQ
%'\Q%
£
|
iy
<
*_u,og
3%

It

Monsgour

S

.
;

v

-
TTTIRRWS

:
r

el




R

EXISTING CBS
1/4* X | 1/2* NAIL~-IN ANCHORS OR

1/4% X 2 1/4" MASONRY SCRENS AT [2' O0C. TOP

PANEL TO ANSLE

ANSLE TO NALL

WALL MOUNT SECTION

1/4* X | 1/2° NAIL-IN ANCHORS 7' OL. W
OR BEXPANSION ANCHORS W1/4-20 X |*
TRUSS HEAD MACHINE BOLTS 6" OL.

OR EXPANSION ANCHORS W1/4-20 X I*
TRUSS HEAD MACHINE BOLTS &' OC.

BUILD oUT MOUNT

AND [] BOTT /\(7 A
wih ¥, ) " oc. oM. A R ,‘ // CONTINUOUS e B
e CONT. HEADER Dot o et 2 X B X /8" ANSLE W e
S ' SERT VT - IATHE } el MAXIMM TOP AND LRI xﬁ&mm
T ER . ;;"";,f-"‘ .;4' :;~'_<’ A ) BOTTOM. AL‘ -~ W 1/4-20 X I°
P/ CAk Y e 4 1/4% X 2 V4" YN o 1/4%-20 MACHINE :‘E]B MACHINE SCREN
) ~ LA ac ';_ ] jeon el N N S .
I MASONRY SCRENS Casd BOLT AND NJT 12 CERE 6*ocL.
g MAX, PANEL g | l s j oc. DM
X R |:5- R s SEP FROM MAX. PANEL HT. ‘
MAX PANEL SPAN = 94, § LASS =l §
S B - § A MIN. 8 1/2° A
& v T Sl 1 ; T T ¢ |
sllzl o 2X2X|/5' 14'-20 NN&N)’T ’ L
% g é % 8 /2 /AN&LE(SILL) g 6/1/2'0.6 % P12
4
b Ik | |
— V4" X 1 12" / V4*-20 WINGNJT 2 X 2 X 1/8" ANGLE.
Lok |] NAIL-IN / 612 0c. ng/ 9 e i,
PR D TR s .
B P | L 1" oL /420 PINGNUT - BOLT AND NUT 12 .
'3 '.,- > E [é Z|/4' oc. E@m/ 0c) TYPICAL ToP | ¥, EEB
ke e Y V4* X 2 1/4 4 BOTTOM alt \
2 SRR | S MASONRY SCRENS tL e ALK-IN MACHINE
‘ A BT ! 12" oLC. . “ = SCREN ANCHOR
™ * 2 X 2 X I/8* STUDDED ANSLE BSPAIVERERE : Rrlks 3. CONTINJOUS 2 X B X /8" ANSLE | ;% - W 1/4-20 X I'
b PERMARENTLY PLACED. SIERRELAN - R, TO RECEIVE SILL ANSLE. i MACHINE SCREN
R © e Lo e 6" ocC,
! EXISTING CBS —\ 1/4* X | 1/2* NAIL-IN ANCHORS T* O.C. \

EXISTING HOOD STRUCTURE

N \\, INSERT WITH
1/4-20 X I*
£ MACHINE BOLT

11" oc. BOTTOM

\ /

CONTINUCUS "h* header

? 12' oC. TOP AND

\)

3 - e
g s v21
g 2 X2 X /B STUDDED ANSLE

LJ ./ T~

BRASS MOOD E[E‘\

1 —— 3
/'<* INSERT WITH [N N
( ya 1/4-20 X |* 1/4*-20 WINSNUT
A MACHINE BOLT 6 V4 oc.
M 6t oc.

ANGLE TO NALL PANEL TO ANSLE

HWALL MOUNT SECTION

CEILING/INSIDE MOUNT

CONTINUOUS HEADER WITH I/4 X | I/2*

NAIL-IN ANCHORS 6 OC.

MAX PANEL SPAN » 94’

WNALL MOUNT SECTION

I/4-20 X I* DRIVE-IN STUDS

PWHINGNUT 6 1/4* OC.

CONTINUOUS 2* X 2' X /8" SILL ANGLE
HITH 174" X | 1/2° RAIL-IN ANCHORS 6* OC.

DIRECT MOUNT
PRODUCT RENEWED

as complying with the Florida
Buiding Code

Expiration Dateoe g
Byﬂm
Miami Dsde Product Con
Division

PRODUCT RENEWED

ACCEPTANCE No, 19-052\-0]

CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE

SOUTH FLORAE
DATE A 4141
o (L&

PRODUCI (ONTROL DIVISION

BUILDING CODE COMPLIANCE OFFICE
acceprance 80. 96 -0 .02

REVISIONS

&6/12/96

o)

/8796

?.
v

ﬂ

ree N el STREFT WER Nt
TN, AOMDA XN

m.%%

RAMMS ENGINECRING, INC.

327-3i4/ '

IALEAH ALUMINUM SUPPLY
FLORIDA

3]0 WEST 76 STRED]

HIALEAH

:

i
|

A
i

>
=

QTicic

»
(v
ot

N

v

Fh
J




REVISIONS

&6/12/96

/2746

EDGE DISTANCE AND ANCHOR SPACING VERSUS DESIGN
PRESSURE AND PANEL HEIGHT

HARDWARE SCHEDULES

545 PSF

120 PSF

ql.4 PSF

il

POURED CONCRETE | CONCRETE BLOCK | POURED CONCRETE | CONCRETE BLOCK | POURED CONCRETE | CONCRETE BLOCK ;
| ANCHOR TYPE_ | ED. | TENSILE SHEAR | TENSILE | SHEAR | TENSILE | SHEAR | TENSILE | SHEAR | TENSILE SHEAR | TENSILE SHEAR 3
L)- o\
4 . 2 71" 7" NA NA 1" 7" NA NA 7" st NA NA z o
NALLIN V2 i = N
(= s . »
3v| " 7" NA NA | T 7" NA NA 71" 1 NA NA g
o %‘E i
g.m 2" 12" qll ]III qll I2l| —,ll qll &ll lOll 6" —Ill 6" Eb) ﬂ E !
> RES
d 1i/2" EMBEDMENT 1l n " 1} 1 n 1 n I [ I -—Z— E
av| 12 12 12 I 12 lo o I 12 &" & &" o 44
‘ u n 1] 1} 1] n"n 1" 6 8\ g
cw’kE-K-lN “E 2 Il 12 . & &ll q IO -r -rll -Tll &II 5" 5“ (J\
CBI[% SCREN ANCHOR = %
UB'ED"HQ/;::I‘OEH an 2" |2 q (" [1n | o qn o" [ 6" -1 % g
B
* ALBO KNOWN AS EXPANSION ANCHOR
M/4-20 X | TRUSS HEAD MACHINE BOLT.
— > N
FOR 1315 PSE DESIGN LOAD, SPACE ALL HARDWARE AT 6 OC. PRODUCT RENEWED g:l %
' ) . as comp ying with the Florida h
FOR 200 PSF DESIGN LOAD, SPACE ALL HARDWARE AT 5* O.C. EXCEPT NAIL-ING TO BE SPACED 4 1/4' OC. Raiding Code - S
| R e 5 8
FOR 240 PSF DESIGN LOAD, SPACE ALL HARDNARE AT B* 0. EXCEPT NAIL-INS TO BE SPACED 4' OL. ] 5 F
¥ =2
?)t‘iisien E & {
CT RENEWED Zog
NOOD APPLICATIONS TYPE DIA. TENSILE SHEAR TENSILE SHEAR PRODU Job
ACCEPTANCENo. 4 9-052\- 0 | 4 o
V4-20 X 46"
THREADED BRASS | 1/4" " EXPIRATION DATE 0% - + T
ROOD INSERT WITH <L
V4-20 X I* By e/é“‘,’i li M/ Ejl i
MACHINE BOLT. T PRODUCPTONTROL DIVISION T Q
BUILDING CODE COMPLIANCE OFFICE =X
TTANx
APPROVED AS COMPLYNG WITH Tht rh?,,
SOUTH FLORIDA BUYBING CODE ' Woneour
* ALL NOOD FASTNERS TO HAVE A MINIMUM EDGE DISTANCE OF 2 172" / DAT 1896 /6|
) BY
probuct cdRTROL DIvisION —_2127__~
) BUILDING CODE COMPLIANCE OFFICE
HARDWARE SCHEDULES Wj‘fw s 3
LER (




* . __ -
P REYISIONS ;
240 rammen 6/12/96
= DESIGN PRESSURE PANEL SPA
= X - N- ADDITIONAL HARDWNARE 173796
220 z 326.00 3] .
= \\ 59.00 lle" (o s N/ B}
= "o /4'-20 X |' PAN 1/4*-20 X 8/4" 1/4*-20 NASHERED
200—= | ”__7_2_00 o OR TRUSS HEAD KNURLED 8TUD MINGNUT 1/8° O.D. ;.a S Zg ]
E \ q) 44 o4 18-8 STAINLESS STEEL E 9\ 25
180 i — 5 3 2
= \ 137.50 &e" [y o @ REN 5
= 1/4'-20 X |I* V4'-20 X I' FLOOR © o)
pp— \ 200.00 13" HEX HEAD FLUSS ( SIDEAALE g gti S\Eg ~
= T)18-8 @ ¥
n; = \ 240.00 66" STAINLESS STEEL va 1o, s/atop. | Q 2 % gg ‘ w
T © FLAT WASHER - 8D 3 @) .
0 = b\ 2 % 2X|ac Y N
& = 1/4*-20 LOCK NUT O & E_oé N N
120 E \ m 55} é% D.g O (o2
= © & 92 sz g 5\ ;
oo E — 1/4*-20 NUT KETHOLE WASHER LLBlﬂ ”
| o2 AN 3
= - O
&0 = } ! z i
= \ | w
= 5 _ h —X
—— O [T ' \ § inc ‘
= LR — o — g
= S 0 ' o o
= " I =T "’ 1 =1 8 1
20 =g . - b2
AELRLAN] {RERLR0AN] CRRINRARAT {REERALORY SRLRRRRALE CRLACRLREY CRRRRADALI ANRRELAANIMAA .0' I ,[ _lg 3 J _‘L‘ _l‘
Y Y. Y
60 T 80 4o loo 1o 120 180 d UL ] J | o ‘ l l : n[ L L_._M | 1 a1 ) \8
. PANEL SPAN IN INCHES ' ~ =
7 /4'-20 X I' SIDEWALK BOLT 1/4'-20 X I' SIDENALK BOLT V4'-20 X I* SIDEWNALK BOLT 8: Q
/ : (RS SHOMNY (AS SHOrN) EVERY 24" (AS SHOMN) i -
I/4' X 20 NINGNUTS w
.o ) n
-~ &T@m vat-20 1/4°-20 HNINGNUT VYERTICAL ELEVATIONS 5 r
%// SANSLES MAY YARY IN 8IZE PANELS MAY LSO BE UZED HORIZONTALLY. 1731%2{
, // 1 PANEL HEIGHT o"-68" -102' | 102" - 122" % 0 —g
MIN. DISTANCE BETNEEN GLASS AND PANEL ;(1 ¥ o
WALL MOUNT 3 |/2" 3 |/2" 3 |/2" o rﬁ
INSIDE MOUNT 3 1/2" 3 1/2" 3 1/2" f& 1‘{2 T
BUILD ouT 3 172 3 1/2" 3 1/2" ;(1 ol
- - —n3
DIRECT MOUNTI 3 1/2 31/2 31/2 TN
—_
PRODUCT RENEWED APPROVED AS ING WITH THE —day
CORNER CONNECTION HNINGNUT 9 -
' s c.::gl(y:l‘:ldgewnh the Florida SOUTH FLORION BUNLAING CODE Monsour
Acceptance No 9 2. ~0211- 6 2. DATE L < 19 __QATHQ___
SENERAL NOTES, E"‘"’“ on Da By -
FHEN ANCHORINS INTO WOOD, THE WOOD MUST BE REFER TO SCHEIULES FOR MINIMM DISTANC S BETHEEN PRODUC{/"COMROL DIVISION 821
A MINIMM 2 X 4 BEQUAL TO 82 SOUTHERN PINE 6LASS AND PANEL, ANCHOR SPACING FOR SPECIFIC Mnsm. Dade Product Confrol ‘ “
AND STRUCTURALLY PART OF THE FRAMING STRUCTURE ANCHORS AND FDGE DISTANCES (ED) FOR SPECIFIC Division BUILDING CODE COMPLIANCE OFFICE
OR BUCURELY ATTATCHED TO FRAMING STRUCTURE. ANCHORS, acceptance N0 G o-031). 02
i — e L4 —

l{l_





